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Why choose The SMART Classroom?
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SMART Notebook &
SMART Response Software 2010

LE VE (beta)

CE
XE

PE
­ UDL­friendly design 
­ Early education
­ Learners with special needs 

­ Browser­based 
assessment
­ Internet­enabled devices 

­ For computer­enabled classrooms
­ 1:1 environments
­ Part of SMART Classroom Suite

­ Question variety
­ Basic text and numeric support
­ K­12, Primary education

­ Advanced math and science support
­ QWERTY keypad; intelligent grading
­ K­12, Secondary education

SMART Response lineup

SMART Confidential

A comprehensive line of interactive response systems for 
multiple learning styles and environments
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SMART 
Response VE
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How does it work?
• The teacher starts the SMART 
Response assessment.
• Students go to 
response.smarttech.com on their 
browsers, and enter the number 
displayed on the teacher's screen 
(612207 in the illustration). 
• Questions are displayed on each 
student's screen and answered by 
typing on the device keyboard.  
• The functionality of Response VE 
is the same as Response PE
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SMART Server

• Use SMART Response VE with existing student computer or device 
hardware.

• Multiply student engagement by using their favourite device in a 
collaborative classroom setting

• Student devices can be located anywhere in the world. Ideal for 
remote education and automated homework assessments

Any Device, Anywhere
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• Full integration with SMART Notebook software and your 
SMART Board interactive whiteboard.

• Embed questions directly in your SMART Notebook lesson file. 

• Extremely easy set up and use: no student installation required. 

• Enables teachers to seamlessly conduct 
formative and summative assessments 
to gauge student progress

Deliver a Seamless Learning Experience
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• No investment in additional infrastructure. Puts your 
existing hardware to use

• Future­proof. Never spend another dollar playing 
catch­up with assessment technology

• Pay­as­you­go

• Increase ROI

Deliver the Greatest Impact for your 
Budget Dollar
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Import
questions

How does SMART Response work?
Create SMART Notebook lesson activities with embedded 
questions

Create
new lessons in 
SMART Notebook software

Integrate
easily into current 
SMART Notebook
lesson activities

Download
SMART Notebook 
lesson activities from 
the SMART Exchange
website
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How does SMART Response work?
Deliver lessons to students

SMART Response software Students answer using any 
SMART Response system
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How does SMART Response work?
Manage results

Teacher Tools
in SMART Response

Export 
results to third­party 
gradebooks for further analysis
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Questions

Grade:«grade»
Subject:«subject»

Date:«date»
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1  
Name something you would find in the Ocean...
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Ask Questions from ANYWHERE

2 Answer?

True  

False  
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Thank you. 

Questions?
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Attachments

5. b﴿ Grade five science quiz ﴾for Mac﴿.pdf

fastgrade example.doc

science.htm

math.htm

5. a﴿ Grade five science quiz ﴾for Windows﴿.doc




Grade Five – Science 
 


1. Which of these increases as a submarine dives deeper into the ocean? 
a. The number of plants in the water 
b. The water temperature 
c. The freshness of the water 
d. The water pressure 


 
2. The part of a plant cell that gives the cell its green color is the 


a. Nucleus 
b. Cytoplasm 
c. Chloroplast 
d. Vacuole 


 
3. Which of the following animals is an invertebrate? 


a. Sea gull 
b. Squirrel 
c. Cricket 
d. Lizard 


 
4. To a brook trout, a stream would be its 


a. Population 
b. Habitat 
c. Community 
d. Niche 


 
5. A student sees many plants around a pond. The student can determine which 


plants are nonvascular by 
a. Counting the number of leaves on each stalk 
b. Observing if the lack true stems, roots or leaves 
c. Examining the plants for spores 
d. Noticing if the plants are near rocks 


 
6. Bright and unusual fish markings can warn other fish to stay away. Which of 


these fish is probably the most dangerous to its predators? 
 


a.  


b.  



javascript:e_x(0);�
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c.  


d.  
 


7. Which of the following changes is possible with the addition of heat? 
a. Liquid water changes to ice 
b. Water vapor changes to liquid water 
c. Water vapor changes to ice 
d. Ice changes to liquid water 


 
8. Which of these is the biggest? 


a. Jupiter 
b. The sun 
c. The earth 
d. The moon 


 
9. Which animal no longer lives on earth? 


a. Sea walrus 
b. Rhinoceros 
c. Buffalo 
d. Wooly mammoth 


 
10. When light hits an object, the rays can pass through it, bounce off it or be 


absorbed by it. Light rays that bounce back are 
a. Reflected 
b. Radiant 
c. Refracted 
d. Radar 



javascript:e_x(2);�

javascript:e_x(3);�



SMART Notebook


1.


2.


3.


4.


5.


SMART Notebook






	Javascript not enabled












    

			

	     


	    

	        Name: 

	    


	     


	    


	    science



	

    
















			


Multiple Choice
Identify the

choice that best completes the statement or answers the question.


 


	







			

		

			 

			
A

			
B

			
C

			
D

		



	

			

		 1. 



	

			

Miguel’s father asks him to move a wheelbarrow full of sand to their

swingset.
[image: mc001-1.jpg]
The sand in the wheelbarrow weighs more than Miguel,

yet Miguel can move the wheelbarrow without difficulty, Why is this?


		a.
		The handles of the wheelbarrow spread the weight out over a larger

area.

		b.
		Lifting the handles puts most of the weight onto the wheelbarrow’s

wheel.

		c.
		Putting the sand up into the wheelbarrow decreases the force of gravity of the

sand.

		d.
		Hot air from the ground pushes up against the wheelbarrow and carries some of the

load.
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		 2. 



	

			

Warren completely burned a log that weighed 10 kilograms. When he collected the

ashes and weighed them, they weighed only 1.4 kilograms. Which of the following explains this

difference in weight?


		a.
		About 8.6 kilograms of wood was transformed into heat energy.

		b.
		About 8.6 kilograms

of wood was transformed into kinetic energy.

		c.
		About 8.6 kilograms of wood was transformed

into electromagnetic energy.

		d.
		About 8.6 kilograms of wood was changed into

soot, water vapor, and smoke (CO2 and other gases).
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		 3. 



	

			

Scientists use a chemical called silver nitrate to find out if chlorine

is present in a liquid. Silver nitrate is added to a sample of liquid. If chlorine is present, the

liquid turns milky white. If no chlorine is present, the liquid stays the same color.

Look at

the chart below.


		Sample
		Original

Color
		Color

After Silver Nitrate


		A
		clear
		milky white


		B
		clear
		clear


		C
		clear
		pale white


		D
		light green
		light

green


						




Which of the following could you conclude

for sure about the presence of chlorine in the samples?


		a.
		D does not contain chlorine.		c.
		C contains more chlorine than

A.

		b.
		A and B both contain chlorine.		d.
		B contains more chlorine than

C.
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		 4. 



	

			

A primary consumer feeds on plants. A secondary consumer feeds on plant-eating

animals. Look at the picture below of a food web.
[image: mc004-1.jpg]
Which of the following pairs are

primary consumers?


		a.
		Owl, mouse		c.
		Acorn, rabbit

		b.
		Mouse, deer		d.
		Oak tree,

fungus
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		 5. 



	

			

A Venus flytrap plant traps and digests an insect. The seed of a certain plant

sprouts only after passing through an elephant’s digestive system and being excreted in its

wastes.

What basic need are both these plants meeting?


		a.
		Eliminating harmful wastes		c.
		Reproducing plants like

themselves

		b.
		Obtaining nutrients for growth		d.
		Protecting themselves from

predators
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		 6. 



	

			

After harvesting crops such as corn and wheat, many farmers plant a second crop

called a cover crop. A cover crop grows during the fall and winter and is then plowed over in

the spring.

What is the most likely reason that cover crops are planted?


		a.
		To prevent erosion of the topsoil by wind and water

		b.
		To encourage water

runoff into all parts of the field

		c.
		To provide food for birds and small animals

during the winter

		d.
		To remove minerals from the soil that might

harm new crops in the spring
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		 7. 



	

			

An environmental impact statement is a report used to evaluate negative impacts

that a project might have on the environment.

Which of the following would be examined in the

environmental impact statement prepared on a waste incinerator that would be near a large

city?


		a.
		The number of new jobs that would be created by the incinerator

		b.
		The expected savings

to the average city person per ton of trash burned

		c.
		The amount and kind of substances that would be

released into the air from the incinerator

		d.
		The possible ways the city might change the

direction that the wind blows, so that smoke or air released from the incinerator would not go over

the city
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		 8. 



	

			

Which of the following describes how hawks and foxes are alike and different in

their hunting habits?


		a.
		Both hunt birds, but only foxes feed dead birds to their young.

		b.
		Both hunt rabbits,

but hawks find rabbits by smell and foxes by sight.

		c.
		Both hunt mice, but hawks locate mice by sight

and foxes mostly by sound or smell.

		d.
		Both hunt mostly at night, but only foxes will

hunt creatures heavier than themselves.
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		 9. 



	

			

Which of the following diagrams shows the correct arrangement of the sun, moon,

and earth during a solar eclipse?


		a.
		[image: mc009-1.jpg]

		b.
		[image: mc009-2.jpg]

		c.
		[image: mc009-3.jpg]

		d.
		[image: mc009-4.jpg]






 


	







			

			

			

 


Study the diagram below to help answer the following questions.
[image: nar001-1.jpg]
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		 10. 



	

			

Air that is rising over a mountain tends to form clouds. Precipitation in the

form of rain or snow is likely to occur before clouds pass over the mountain.

Which of the

following usually causes this cloud formation and precipitation?


		a.
		The air gets colder as it rises higher.

		b.
		The speed at which

the air is traveling increases.

		c.
		The air gains heat from sunlight reflected off

the mountain.

		d.
		The pressure increases as air moves up, forcing moisture out of the

clouds.
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		 11. 



	

			

Which of the following can definitely be used to distinguish the soil found at

point A from the soil found at point B?


		a.
		The soil found at point B holds moisture longer than soil found at point

A.

		b.
		The soil found at point A is made of larger particles than the soil found at point

B.

		c.
		The soil found at point A has a higher concentration of salt than the soil found at

point B.

		d.
		The soil found at point A has more plant matter and bacteria that the soil found at

point B.
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		 12. 



	

			

A certain viral disease can be transmitted through the air. In each of the

groups below, one person is sick with the disease. In which group are all the other

individuals exposed to the disease?


		a.
		People working in the same building		c.
		People working for the same

company

		b.
		People riding to work in the same car		d.
		People riding to work in the same

train
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		 13. 



	

			

Below are illustrations of (1) a flashlight beam being reflected off of a

mirror, and (2) waves of water being reflected off the side of a swimming pool.
[image: mc013-1.jpg]
What simple property, or characteristic, of reflection is shown by the rays of

light and by the waves of water?


		a.
		Both light rays and water waves are always perfectly straight.

		b.
		The reflected rays

or waves never touch unreflected rays or waves.

		c.
		The angle at which they strike a surface is the

angle at which they are reflected.

		d.
		Reflections of both light rays and water waves

have more energy after being reflected than they had before they were

reflected.
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		 14. 



	

			

Most water found in nature contains dissolved minerals, dust particles, or bits

of soil. Some of these provide basic nutrients for the growth of the smallest

plants—single-celled algae.

Which of the following sources of water would contain the

smallest number of algae?


		a.
		Rain water		c.
		River water

		b.
		Lake water		d.
		Ocean water
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Tom has a projector that shines red light. When he places a red filter in front

of the projector and turns it on, he sees red light pass through the filter. When he places a blue

filter or a green filter in front of the projector, no light passes through the filter.

Which

of the following is supported by Tom’s observations?


		a.
		Red light is absorbed by a red filter.

		b.
		Green light is not absorbed by a red

filter.

		c.
		Only blue light passes through a blue filter.

		d.
		Only red light will

pass through a red filter.
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		 16. 



	

			

Which of the following is an example of a simple physical change?


		a.
		Closing a door		c.
		Turning on an electric light

		b.
		Breaking an

egg		d.
		Putting coffee beans

into a cupboard
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Multiple Choice
Identify the

choice that best completes the statement or answers the question.
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		 1. 



	

			

An Olympic-sized swimming pool is 50 m long. If you wanted to swim 1 km in a

pool this size, how many laps would you have to swim?


		a.
		2 laps		c.
		200 laps

		b.
		20 laps		d.
		2,000 laps






 


	







			

		

			 

			
A

			
B

			
C

			
D

		



	

			

		 2. 



	

			

Darla is sorting her building blocks into one of four boxes pictured

below.
[image: mc002-1.jpg]
Into which box should she place this building

block?
[image: mc002-2.jpg]


		a.
		Cones		c.
		Pyramids

		b.
		Prisms		d.
		Cylinders
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		 3. 



	

			

Suppose you write all the letters of the word PROBABILITY on

individual cards and place them in a bag. If you take a card from the bag without looking, what is

the probability of picking a card with the letter B?


		a.
		[image: mc003-1.jpg]		c.
		[image: mc003-3.jpg]

		b.
		[image: mc003-2.jpg]		d.
		[image: mc003-4.jpg]
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		 4. 



	

			

Navin wants to make a small walkway between the house and the garage, using red

and white bricks of the same size. He wants to use 32 bricks in all, 8 red and 24 white. What

fraction of the bricks will be red?


		a.
		[image: mc004-1.jpg]		c.
		[image: mc004-3.jpg]

		b.
		[image: mc004-2.jpg]		d.
		[image: mc004-4.jpg]






 


	







			

		

			 

			
A

			
B

			
C

			
D

		



	

			

		 5. 



	

			

Tim has $700 in his savings account and $650 in his checking account (in which

he does not get interest). He deposits $50 from each paycheck into his savings account. If he

deposits $100 into his checking account every other month, how many years will it take him to save

$20,000 in his checking account?

Identify the unnecessary information in the problem.


		a.
		Tim has $650 in his checking account.

		b.
		Tim wants to save $20,000 in his checking

account.

		c.
		Tim deposits $50 from each paycheck into his savings account.

		d.
		Tim deposits $100

into his checking account every other month.






 


	







			

		

			 

			
A

			
B

			
C

			
D

		



	

			

		 6. 



	

			

Amy is planning to buy a new fish tank for her goldfish. She learns that a good

fish tank has the greatest surface area at the top to provide the most oxygen for the fish. Look at

the lengths and widths of different fish tanks below. Which fish tank has the greatest area on

top?
[image: mc006-1.jpg]


		a.
		Tank A has a length of 23 in. and a width of 17 in.

		b.
		Tank B has a length

of 24 in. and a width of 12 in.

		c.
		Tank C has a length of 26 in. and a width of 10

in.

		d.
		Tank D has a length of 28 in. and a width of 11 in.
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		 7. 



	

			

The lengths of the sides of the triangles below are proportional. What is the

length of the base of the large triangle?
[image: mc007-1.jpg]


		a.
		16		c.
		20

		b.
		18		d.
		24
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		 8. 



	

			

You are saving your money in the bank to buy a coat for $110. You have $45 in

the bank already and you put in another $20 you received for your birthday. You also plan to add your

weekly allowance of $5 to your savings. You do the calculations below and conclude it will take 35

weeks to save enough money for the coat.

Look at the steps. Do any of these steps contain an

error? If so, which one?


		(A)
		 		(B)
		(C)


		$45
+ 20
		 		$110
+ 65
		$175 ¸ $5 = 35


		$65
		 		$175
		 

								






		a.
		You should have subtracted in step A.		c.
		You should have multiplied in step

C.

		b.
		You should have subtracted in step B.		d.
		All three steps were done

correctly.
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		 9. 



	

			

Look at the graph line below. The greatest difference in daily high temperatures

occurred between which two consecutive days?
[image: mc009-1.jpg]



		a.
		Between Tuesday and Wednesday		c.
		Between Friday and

Saturday

		b.
		Between Monday and Tuesday		d.
		Between Sunday and Monday
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		 10. 



	

			

An electronics store is having a sale. Look at the sale advertisement below. You

want to buy a CD (compact disc), three video tapes, and an AM/FM pocket radio. Estimate how

much money these items will cost before taxes.
[image: mc010-1.jpg]


		a.
		$29		c.
		$39

		b.
		$34		d.
		$41
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		 11. 



	

			

Which expression shows how the distributive property can be used to multiply the

following numbers?
8´7.63


		a.
		[image: mc011-1.jpg]		c.
		[image: mc011-3.jpg]

		b.
		[image: mc011-2.jpg]		d.
		[image: mc011-4.jpg]
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		 12. 



	

			

To make the finals in the long jump competition, Kiko had to do a long jump that

was at least 6 feet [image: mc012-1.jpg] inches long. Which of her jumps qualified her for the

finals?


		a.
		[image: mc012-2.jpg]		c.
		[image: mc012-4.jpg]

		b.
		[image: mc012-3.jpg]		d.
		[image: mc012-5.jpg]
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		 13. 



	

			

Ramón is building a doghouse. He wants the roof of the doghouse to be at an

angle that is more than 90° but less than 110°. Which angle below could he use for the roof?
[image: mc013-1.jpg]


		a.
		[image: mc013-2.jpg]		c.
		[image: mc013-4.jpg]

		b.
		[image: mc013-3.jpg]		d.
		[image: mc013-5.jpg]
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		 14. 



	

			

The science club took a survey to see how many hours each member in the club

worked on a science project. The table below shows the results of the survey. What is the mean

(average) number of hours the students worked on the science project?


		Number

of Hours Students Worked on a Science Project


		 		Students		Hrs.


		 		Greta		25


		 		Juan		14


		 		Mika		20


		 		Paulo		18


		 		Su-Lin		16


		 		Tanika		31


		 		Darnell		33


		 		Wesley		27


						






		a.
		16		c.
		23

		b.
		20		d.
		182






 


	







			

		

			 

			
A

			
B

			
C

			
D

		



	

			

		 15. 



	

			

Read the problem below.

Mr. Wright is planning to teach five self-defense

classes, one class each day. On Monday, Wednesday, and Friday, he can have 20 students in each

beginner’s class. On Tuesday and Thursday, he can have 10 students in each advanced class. What

is the total number of students Mr. Wright can enroll in all five classes?

Choose the

expression that will help you solve the problem.


		a.
		[image: mc015-1.jpg]		c.
		[image: mc015-3.jpg]

		b.
		[image: mc015-2.jpg]		d.
		[image: mc015-4.jpg]
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		 16. 



	

			

For an art project, Ming cut different shapes out of felt and made a design with

the shapes. It took two large triangles to make the shape shown by the dotted lines. How many small

triangles would it take to make the shape formed by the dotted lines?
[image: mc016-1.jpg]


		a.
		4		c.
		8

		b.
		6		d.
		10
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		 17. 



	

			

When Bill pressed the following keys on his calculator,

[image: mc017-1.jpg]
the display showed the answer of 0.5.

What number will Bill see on the

display when he presses the following keys on his calculator?

[image: mc017-2.jpg]



		a.
		29		c.
		32

		b.
		30		d.
		77
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Grade Five – Science

1. Which of these increases as a submarine dives deeper into the ocean?


a. The number of plants in the water


b. The water temperature


c. The freshness of the water


d. The water pressure


2. The part of a plant cell that gives the cell its green color is the


a. Nucleus


b. Cytoplasm


c. Chloroplast


d. Vacuole


3. Which of the following animals is an invertebrate?


a. Sea gull


b. Squirrel


c. Cricket


d. Lizard


4. To a brook trout, a stream would be its

a. Population


b. Habitat


c. Community


d. Niche


5. A student sees many plants around a pond. The student can determine which plants are nonvascular by


a. Counting the number of leaves on each stalk


b. Observing if the lack true stems, roots or leaves


c. Examining the plants for spores


d. Noticing if the plants are near rocks


6. Bright and unusual fish markings can warn other fish to stay away. Which of these fish is probably the most dangerous to its predators?

a. 




b. 



c. 



d. 



7. Which of the following changes is possible with the addition of heat?


a. Liquid water changes to ice

b. Water vapor changes to liquid water

c. Water vapor changes to ice

d. Ice changes to liquid water

8. Which of these is the biggest?


a. Jupiter

b. The sun

c. The earth

d. The moon

9. Which animal no longer lives on earth?


a. Sea walrus

b. Rhinoceros

c. Buffalo


d. Wooly mammoth


10. When light hits an object, the rays can pass through it, bounce off it or be absorbed by it. Light rays that bounce back are


a. Reflected


b. Radiant


c. Refracted


d. Radar
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